
SEAT





SEAT

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com



SEAT

ALHAMBRA ( 7V8,7V9 ) 1996-2010

FO-2098
Control Arm Bushing

Front Right Lower Outer

7M0407181A

FO-2097
Control Arm Bushing

Center

7M0501541

VW-12751
Tie Rod End

Front Right
M14x1,5Rht

7M0422818B

VW-23752753
Steering Tie Rod Assembly

Front Left

7M0422803G

VW-23751753
Steering Tie Rod Assembly

Front Right

7M0422804G

VW-13753
Axial Joint

Front Inner
M14x1,5-L=182.5mm

7M0422804EF

VW-20750K
Suspension Stabilizer Bar Link Kit

Front
V-750X2

95VW5489AC

VW-14750
Stabilizer Link

Front
L=205mm

95VW5489AC

VW-16757
Suspension Control Arm

Front Left

95VW3079AC

VW-16756
Suspension Control Arm

Front Right Lower

95VW3078AC

VW-11755
Ball Joint

Front

YM213395BA

VW-12752
Tie Rod End

Front Left
M14x1,5Rht

7M0422817B

ALTEA V 2004-2015

AU-20488
Control Arm Bushing

Right

1K0199232H

AU-20487
Control Arm Bushing

Center

5Q0407182

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



SEAT

ALTEA V 2004-2015

AU-20489
Control Arm Bushing

Left

1K0199231H

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-16561N
Suspension Control Arm

Front Right Lower
Only:Diesel

1K0407152M

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48

9

VW-16562N
Suspension Control Arm

Front Left Lower
Only:Diesel

1K0407151M

VW-16560N
Suspension Control Arm

Front Left Lower
Only:Petrol

1K0407151Q

VW-16559N
Suspension Control Arm

Front Right Lower
Only:Petrol

1K0407152Q

VW-16562
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:Diesel

1K0407151AC

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 5 info@parsrot.com



SEAT

ALTEA V 2004-2015

VW-16561
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Diesel

1K0407152AC

VW-16560
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:Petrol

1K0407151Q

VW-16559
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:Petrol

1K0407152Q

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

ARONA 1st Gen 2017 after

VW-16939
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

2Q0407151B

VW-16938
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

2Q0407152B

VW-16948
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

2Q0407152C

VW-16949
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

2Q0407151C

VW-16938N
Suspension Control Arm

Front Right Lower

2Q0407152B

VW-16939N
Suspension Control Arm

Front Left Lower

2Q0407151B

VW-16948N
Suspension Control Arm

Front Right Lower

2Q0407152C

VW-16949N
Suspension Control Arm

Front Left Lower

2Q0407151C

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



SEAT

AROSA 1997-2004

VW-13902
Axial Joint

Front
PowerSteering 

M14x1,5Rht-L=312.5mm

6N0422803A

VW-13903
Axial Joint

Front
ManuelSteering  M14x1,5Rht-L=306mm

6N0419803

VW-13913
Axial Joint

Front
(withPS,Hydro)  M14x1,5Rht

6N0422804C

VW-23911913
Steering Tie Rod Assembly

Front Right
(withPS,Hydro)

6N0422804C

VW-23912913
Steering Tie Rod Assembly

Front Left
withPS,Hydro

6N0422803C

VW-23914
Steering Tie Rod Assembly

Front Right
ManuelSteering

6N0422804

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-14906
Stabilizer Link

Front
L=30mm-D=Ø18,5mm

6N0411315D

VW-16926
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

6N0407365

VW-16925N
Suspension Control Arm

Front

6N0407151

VW-14909
Stabilizer Link

Front
L=30mm-D=Ø16,5mm

6N0411315

VW-23915
Steering Tie Rod Assembly

Front Left
ManuelSteering

6N0422803

VW-23916
Steering Tie Rod Assembly

Front Right
PowerSteering

6N0419804A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



SEAT

AROSA 1997-2004

VW-23917
Steering Tie Rod Assembly

Front Left
PowerSteering

6X0419803A

VW-11904
Ball Joint

Right

6N0407366

VW-11905
Ball Joint

Front Left Lower

6N0407365

VW-11904K
Suspension Ball Joint Kit

Front Right

6N0407366

VW-11905K
Suspension Ball Joint Kit

Front Left

6N0407365

VW-16925
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

6N0407365A

SE-20193
Control Arm Bushing

Center

6N0407182

SE-2048
Control Arm Bushing

Front Outer

6N0407181

CORDOBA ( 6L2 ) 2002-2009

SE-20492
Control Arm Bushing

Front Right Lower Inner

6Q0407182A

SE-20522
Control Arm Bushing

Inner

6Q0407183A

SK-18414
Suspension Control Arm Repair Kit

Front
SK-410K-SK-411K/SK-401-SK-402/SK-

4072AD

SE-12402
Tie Rod End

Front Left
TRWSteering  M14x1,5

6Q0423811C

SE-13403
Axial Joint

Front
TRWSteering  M14x1,5-L=320mm

6K0422803F

SE-23401403
Steering Tie Rod Assembly

Front Right
TRWSteering

6K0422804E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 8 info@parsrot.com



SEAT

CORDOBA ( 6L2 ) 2002-2009

SE-23402403
Steering Tie Rod Assembly

Front Left
TRWSteering

6K0422803E

SE-12401
Tie Rod End

Front Right
TRWSteering  M14x1,5

6RD423812B

SK-11405
Ball Joint

Front Right Lower

8Z0407366A

SK-11406
Ball Joint

Front Left Lower

8Z0407365A

SK-16410
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

6Q0407366A

SK-16411
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

6Q0407365A

SK-16410N
Suspension Control Arm

Front

6Q0407151D

SK-14407
Stabilizer Link

Front
L=270mm

6Q0411315D

CORDOBA III 1993-1999

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

VW-14410
Stabilizer Link

Front
IBIZA  L=75mm-D=Ø16,5mm

191411315

VW-14510
Stabilizer Link

Front
IBIZA  L=69.5mm-D=Ø17.5mm

191411315B

VW-16427N
Suspension Control Arm

Front Right Lower

191407152B

VW-16428N
Suspension Control Arm

Front Left Lower

191407151B

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 9 info@parsrot.com



SEAT

CORDOBA III 1993-1999

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

VW-23415
Steering Tie Rod Assembly

Front Right
TRWPowersteeringIBIZA

191422804A

VW-23416
Steering Tie Rod Assembly

Front Left
TRWPowersteeringIBIZA

191422803A

VW-23417
Steering Tie Rod Assembly

Front Right
ManuelSteering-IBIZA

191419804A

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-23418
Steering Tie Rod Assembly

Front Left
ManuelSteering-IBIZA

191419803A

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 
D=Ø19mmOnly:GTI

1H0407365

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-11530K
Suspension Ball Joint Kit

Front
(Withinforcement)  Only:GTI D=Ø19mm

1H0407365

VW-16427
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
IBIZA  Ball Joint D=Ø19mm

191407152B

VW-16428
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
IBIZA  Ball Joint D=Ø19mm

191407151B

VW-16535
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:GTI16V

1H0407152

VW-16536
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:GTI16V

1H0407151A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



SEAT

CORDOBA III 1993-1999

VW-16425N
Suspension Control Arm

Front
IBIZA

191407151A

VW-13405
Axial Joint

Front
ManualSteeringIBIZA 
M14x1,5Rht-L=372mm

191419807A

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

EXEO 2008-2013

AU-16629
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower Rear
(Chassis from 8H7000001>)

8E0407693T

AU-16628
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower Rear
(Chassis from 8H7000001>)

8E0407694T

AU-19535
Lateral Arm

Rear
L=337mm

8E0501529G

AU-14538
Stabilizer Link

Front Right

8E0411318

AU-14539
Stabilizer Link

Front Left

8E0411317

AU-19624
Lateral Arm

Rear Right Upper Rear

3R0505324

AU-19625
Lateral Arm

Rear Left Upper Rear

3R0505323

IBIZA I 1984-1993

SE-20159
Control Arm Bushing

Rear

823407181

FT-12901
Tie Rod End

Front
M12x1,5Rht

5960056

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 11 info@parsrot.com



SEAT

IBIZA I 1984-1993

FT-13405
Axial Joint

Front Inner
ManuelSteering  M12x1,5-L=276.8mm

SE022162449S

SE-16304
Suspension Control Arm and Ball Joint
Assembly

Front Lower
D=Ø15mm

SE021156110A

SE-16305
Suspension Control Arm and Ball Joint

Assembly

Front
D=Ø15mm

SE021156110B

IBIZA II 1994-1999

SE-16305
Suspension Control Arm and Ball Joint

Assembly

Front
D=Ø15mm

SE021156110B

SE-16304
Suspension Control Arm and Ball Joint
Assembly

Front Lower
D=Ø15mm

SE021156110A

VW-16425N
Suspension Control Arm

Front
IBIZA

191407151A

VW-16536
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
Only:GTI16V

1H0407152

VW-16428
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower
IBIZA  Ball Joint D=Ø19mm

191407151B

VW-16427
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower
IBIZA  Ball Joint D=Ø19mm

191407152B

VW-11530K
Suspension Ball Joint Kit

Front
(Withinforcement)  Only:GTI D=Ø19mm

1H0407365

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 
D=Ø19mmOnly:GTI

1H0407365

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 12 info@parsrot.com



SEAT

IBIZA II 1994-1999

VW-23418
Steering Tie Rod Assembly

Front Left
ManuelSteering-IBIZA

191419803A

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-23417
Steering Tie Rod Assembly

Front Right
ManuelSteering-IBIZA

191419804A

VW-23416
Steering Tie Rod Assembly

Front Left
TRWPowersteeringIBIZA

191422803A

VW-23415
Steering Tie Rod Assembly

Front Right
TRWPowersteeringIBIZA

191422804A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

VW-16428N
Suspension Control Arm

Front Left Lower

191407151B

VW-16427N
Suspension Control Arm

Front Right Lower

191407152B

VW-14510
Stabilizer Link

Front
IBIZA  L=69.5mm-D=Ø17.5mm

191411315B

VW-14410
Stabilizer Link

Front
IBIZA  L=75mm-D=Ø16,5mm

191411315

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 13 info@parsrot.com



SEAT

IBIZA II 1994-1999

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-13405
Axial Joint

Front
ManualSteeringIBIZA 
M14x1,5Rht-L=372mm

191419807A

FT-13405
Axial Joint

Front Inner
ManuelSteering  M12x1,5-L=276.8mm

SE022162449S

FT-12901
Tie Rod End

Front
M12x1,5Rht

5960056

SE-20159
Control Arm Bushing

Rear

823407181

IBIZA IV ( 6L1 ) 2002-2009

SK-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

6Q0423811D

SK-12401
Tie Rod End

Front Right Outer
M14x1,5Rht

6Q0423812D

SE-20522
Control Arm Bushing

Inner

6Q0407183A

SE-20492
Control Arm Bushing

Front Right Lower Inner

6Q0407182A

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

SE-23401403
Steering Tie Rod Assembly

Front Right
TRWSteering

6K0422804E

SE-13403
Axial Joint

Front
TRWSteering  M14x1,5-L=320mm

6K0422803F

SK-16410N
Suspension Control Arm

Front

6Q0407151D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 14 info@parsrot.com



SEAT

IBIZA IV ( 6L1 ) 2002-2009

SK-16411
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

6Q0407365A

SK-16410
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

6Q0407366A

SK-11406
Ball Joint

Front Left Lower

8Z0407365A

SK-11405
Ball Joint

Front Right Lower

8Z0407366A

SE-12401
Tie Rod End

Front Right
TRWSteering  M14x1,5

6RD423812B

SE-23402403
Steering Tie Rod Assembly

Front Left
TRWSteering

6K0422803E

SK-13403
Axial Joint

Front
TRWSteering  M14x1,5-L=297mm

6Q0422804B

SE-12402
Tie Rod End

Front Left
TRWSteering  M14x1,5

6Q0423811C

SK-18414
Suspension Control Arm Repair Kit

Front
SK-410K-SK-411K/SK-401-SK-402/SK-

4072AD

SK-18410K
Suspension Control Arm Kit

Front Right

6Q0407151DR

SK-23401403
Steering Tie Rod Assembly

Front Right
ManualSteering

6Q0422804B

SK-23402403
Steering Tie Rod Assembly

Front Left
TRWSteering

6Q0422803B

SK-18411K
Suspension Control Arm Kit

Front Left

6Q0407151DL

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 15 info@parsrot.com



SEAT

IBIZA V ( 6R ) 2008-2017

SK-23401923
Steering Tie Rod Assembly

Front Right

8Z0423804C

SK-16428
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

6R0407152

SK-23402923
Steering Tie Rod Assembly

Front Left

8Z0423803C

SK-16429N
Suspension Control Arm

Front Left Lower

6R0407151

SK-16429
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

6E0407151

SK-16428N
Suspension Control Arm

Front Right Lower

6R0407152

SK-14407
Stabilizer Link

Front
L=270mm

6Q0411315D

SK-12401
Tie Rod End

Front Right Outer
M14x1,5Rht

6Q0423812D

SK-11425
Ball Joint

Front Left Lower

6R0407365

SK-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

6Q0423811D

VW-13923
Axial Joint

Front
M14x1,5-L=313mm

8Z0419810C

SK-11424
Ball Joint

Front Right Lower

6R0407366

LEON ( 5F1 ) 2012 after

AU-19487
Lateral Arm

Rear Lower

5Q0505311C

AU-19485
Lateral Arm

Rear Right Upper

5Q0505224D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 16 info@parsrot.com



SEAT

LEON ( 5F1 ) 2012 after

AU-19486
Lateral Arm

Rear Left Upper

5Q0505223D

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-19587
Lateral Arm

Rear Upper

5Q0505323D

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

VW-14580
Stabilizer Link

Rear
L=70mm

5Q0505465A

VW-19586
Lateral Arm

Rear Lower Front

5Q0501529C

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

SK-16458
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1K0407152BC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 17 info@parsrot.com



SEAT

LEON ( 5F1 ) 2012 after

SK-16459
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1K0407151BC

SK-16458N
Suspension Control Arm

Front Right Lower

1K0407152BC

SK-16459N
Suspension Control Arm

Front Left Lower

1K0407151H

LEON 1M1 1999-2006

AU-13594
Axial Joint

Front

8N0422804D

AU-23591594
Steering Tie Rod Assembly

Front Right

8N0422804D

AU-14499
Stabilizer Link

Front Left
4Motion  L=336mm

1J0411315D

AU-14500
Stabilizer Link

Front Right
4Motion  L=336mm

1J0411316D

VW-14531
Stabilizer Link

Front
Plastic  L=105,5mm

1J0411315C

AU-19498
Lateral Arm

Rear

1J0505323H

AU-23506
Steering Tie Rod Assembly

Front Right
Ch.8L.W-050-423->

1H0422804D

AU-13503
Axial Joint

Front Inner
Ch.8L-W-050-423->  M14x1,5-L=320mm

1J0422807A

AU-16525N
Suspension Control Arm

Front

1J0407151C

AU-16526
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1J0407151A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 18 info@parsrot.com



SEAT

LEON 1M1 1999-2006

AU-16525
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1J0407151B

AU-11505S
Ball Joint

Front Left Lower
Kit

1J0407366C

AU-11505
Ball Joint

Front Left Lower

1J0407365B

AU-11495
Ball Joint

Front Lower

8N0407365C

AU-11504S
Ball Joint

Front Right Lower
Kit

1J0407366C

AU-11504
Ball Joint

Front Right Lower

1J0407366C

AU-23507
Steering Tie Rod Assembly

Front Left
Ch.8L.W-050-423->

1H0422803D

AU-12501
Tie Rod End

Front Right
M14x1,5Rht

6Q0419812

AU-12502
Tie Rod End

Front Left
M14x1,5Rht

6Q0419811

LEON 1P1 2006-2009

VW-11555
Ball Joint

Front Right Lower

1K0407366E

LEON 1P1 2006-2012

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-11556
Ball Joint

Front Left Lower

1K0407365E

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 19 info@parsrot.com



SEAT

LEON 1P1 2006-2012

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48

9

SE-19108
Lateral Arm

Rear Right Lower
L=298mm

1K0501530C

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

SE-19109
Lateral Arm

Rear Left Lower
L=298mm

1K0501529F

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

SK-16458
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1K0407152BC

SK-16459
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1K0407151BC

MARBELLA 1986-1992

FT-13704
Axial Joint

Front
M14x1-L=142mm

4318655

FT-16325
Suspension Control Arm and Ball Joint
Assembly

Front Upper

SE028140104A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 20 info@parsrot.com



SEAT

MARBELLA 1986-1992

FT-20429
Control Arm Bushing

Front Outer

4157013

MARBELLA 1992-1998

FT-16328
Suspension Control Arm

Front Lower

SE141156110A

FT-11303
Ball Joint

Front Upper

SE141140104A

FT-12321
Tie Rod End

Front
M12x1,5Rht

SE141162410A

FT-13708
Axial Joint

Front
M12x1,5-L=192mm

SE141162449A

Mii ( KYF ) 2011 after

AU-2012
Control Arm Bushing

Front Right Lower Outer

1J0407181

SK-11425
Ball Joint

Front Left Lower

6R0407365

SK-11424
Ball Joint

Front Right Lower

6R0407366

VW-16579N
Suspension Control Arm

Front Left Lower

1S0407151

VW-16579
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1S0407151

VW-16578N
Suspension Control Arm

Front Right Lower

1S0407152

VW-13573
Axial Joint

Front
M14X1,5-L=306mm

1S0423810A

VW-12571
Tie Rod End

Front Right
M16x1,5Rht

1S0423812A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 21 info@parsrot.com



SEAT

Mii ( KYF ) 2011 after

VW-12572
Tie Rod End

Front Left
M16x1,5Rht

1S0423811A

VW-16578
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1S0407152

SK-14407
Stabilizer Link

Front
L=270mm

6Q0411315D

RONDA 1982-1988

FT-2070
Control Arm Bushing

Rear

4364095

FT-13708
Axial Joint

Front
M12x1,5-L=192mm

SE141162449A

FT-16805
Suspension Control Arm and Ball Joint

Assembly

Front
D=Ø8mm

7535188

FT-12901
Tie Rod End

Front
M12x1,5Rht

5960056

TERRA 1984-1990

FT-12901
Tie Rod End

Front
M12x1,5Rht

5960056

FT-16805
Suspension Control Arm and Ball Joint
Assembly

Front
D=Ø8mm

7535188

OP-12202
Tie Rod End

Front Right
M16x1,5Lht

7846485

OP-11203
Ball Joint

Front

90375505

OP-12201
Tie Rod End

Front Left
M16x1,5Rht

90140007

FT-2070
Control Arm Bushing

Rear

4364095

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 22 info@parsrot.com



SEAT

TOLEDO I (1L) 1993-1999

VW-13405
Axial Joint

Front
ManualSteeringIBIZA 

M14x1,5Rht-L=372mm

191419807A

VW-12402
Tie Rod End

Front Left Outer
M14x1,5Rht

3A0422811

VW-12401
Tie Rod End

Front Right
M14x1,5Rht

3A0422812

VW-14907
Stabilizer Link

Front
L=78mm-D=Ø18mm

6K0411315

VW-14410
Stabilizer Link

Front
IBIZA  L=75mm-D=Ø16,5mm

191411315

VW-14510
Stabilizer Link

Front
IBIZA  L=69.5mm-D=Ø17.5mm

191411315B

VW-16427N
Suspension Control Arm

Front Right Lower

191407152B

VW-16428N
Suspension Control Arm

Front Left Lower

191407151B

VW-16535N
Suspension Control Arm

Front Right Lower
Only:GTI16V

1H0407152

VW-16536N
Suspension Control Arm

Front Left Lower
Only:GTI16V

1H0407151A

VW-13406
Axial Joint

Front
PowerSteering  M14x1,5Rht-L=340mm

191422721

VW-23415
Steering Tie Rod Assembly

Front Right
TRWPowersteeringIBIZA

191422804A

VW-23416
Steering Tie Rod Assembly

Front Left
TRWPowersteeringIBIZA

191422803A

VW-23417
Steering Tie Rod Assembly

Front Right
ManuelSteering-IBIZA

191419804A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 23 info@parsrot.com



SEAT

TOLEDO I (1L) 1993-1999

VW-11404
Ball Joint

Front
IBIZA

357407365A

VW-23418
Steering Tie Rod Assembly

Front Left
ManuelSteering-IBIZA

191419803A

VW-11530
Ball Joint

Front
(Withinforcement)IBIZA 

D=Ø19mmOnly:GTI

1H0407365

VW-11404K
Suspension Ball Joint Kit

Front
IBIZA

357407365S1

VW-11530K
Suspension Ball Joint Kit

Front
(Withinforcement)  Only:GTI D=Ø19mm

1H0407365

VW-16427
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
IBIZA  Ball Joint D=Ø19mm

191407152B

VW-16428
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
IBIZA  Ball Joint D=Ø19mm

191407151B

VW-16535
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower
Only:GTI16V

1H0407152

VW-16536
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower
Only:GTI16V

1H0407151A

VW-16425N
Suspension Control Arm

Front
IBIZA

191407151A

VW-12331
Tie Rod End

Front Right
(WITHPS)  M14x1,5Rht

3A0422812

VW-12332
Tie Rod End

Front Left
(WITHPS)  M14x1,5Rht

3A0422811

VW-13333
Axial Joint

Front
(WITHPS)  M14x1,5Rht

6K0422804D

VW-23331333
Steering Tie Rod Assembly

Front Right
(WITHPS)  M14x1,5Rht

6K0422804D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 24 info@parsrot.com



SEAT

TOLEDO I (1L) 1993-1999

VW-23332333
Steering Tie Rod Assembly

Front Left
(WITHPS)  M14x1,5Rht

6K0422803D

SE-20204
Control Arm Bushing

Front Outer

191407181D

SE-20156A
Control Arm Bushing

Front

357407181

SE-20156
Control Arm Bushing

Front Outer

357407181

SE-20155
Control Arm Bushing

Center

357407182F

AU-20328
Control Arm Bushing

Front Right Lower Inner

4A0399413A

SE-20438
Control Arm Bushing

Front Inner

191407181D

TOLEDO II (1M2) 1999-2006

AU-20328
Control Arm Bushing

Front Right Lower Inner

4A0399413A

SE-20155
Control Arm Bushing

Center

357407182F

AU-12502
Tie Rod End

Front Left
M14x1,5Rht

6Q0419811

AU-12501
Tie Rod End

Front Right
M14x1,5Rht

6Q0419812

AU-13503
Axial Joint

Front Inner
Ch.8L-W-050-423->  M14x1,5-L=320mm

1J0422807A

AU-23506
Steering Tie Rod Assembly

Front Right
Ch.8L.W-050-423->

1H0422804D

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 25 info@parsrot.com



SEAT

TOLEDO II (1M2) 1999-2006

AU-23507
Steering Tie Rod Assembly

Front Left
Ch.8L.W-050-423->

1H0422803D

AU-11504
Ball Joint

Front Right Lower

1J0407366C

AU-11504S
Ball Joint

Front Right Lower
Kit

1J0407366C

AU-11505
Ball Joint

Front Left Lower

1J0407365B

AU-11505S
Ball Joint

Front Left Lower
Kit

1J0407366C

AU-16525
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

1J0407151B

AU-16526
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

1J0407151A

VW-18500
Suspension Control Arm Repair Kit

Front ve Rear

VW-14531
Stabilizer Link

Front
Plastic  L=105,5mm

1J0411315C

AU-14500
Stabilizer Link

Front Right
4Motion  L=336mm

1J0411316D

AU-2012
Control Arm Bushing

Front Right Lower Outer

1J0407181

TOLEDO III (5P2) 2006-2009

AU-18552
Suspension Control Arm Repair Kit

Rear
SE-108-SE-109/A-5582AD/V-5582AD

VW-14558
Stabilizer Link

Rear
L=95,5mm

1K0505465K

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 26 info@parsrot.com



SEAT

TOLEDO III (5P2) 2006-2009

VW-20558K
Suspension Stabilizer Bar Link Kit

Rear
L=95,5mm

1K0505465KS1

SE-19108
Lateral Arm

Rear Right Lower
L=298mm

1K0501530C

SE-19109
Lateral Arm

Rear Left Lower
L=298mm

1K0501529F

SK-19457
Lateral Arm

Rear Lower
L=298mm

1K0501529J

VW-12552
Tie Rod End

Front Left
M16x1,5Rht

1K0423811K

VW-13553
Axial Joint

Front Inner
M16x1,5-L=310mm

1K0423810A

VW-12551
Tie Rod End

Front Right
M16x1,5Rht

1K0423812K

AU-18152
Suspension Control Arm Repair Kit

Front
V-555/V-556-V-557-SB487/SB488/SB48
9

VW-14557
Stabilizer Link

Front
L=335mm

1K0411315J

VW-11555
Ball Joint

Front Right Lower

1K0407366E

VW-11556
Ball Joint

Front Left Lower

1K0407365E

VW-19228
Lateral Arm

Rear Lower

1K0505311AB

AU-20489
Control Arm Bushing

Left

1K0199231H

AU-20487
Control Arm Bushing

Center

5Q0407182

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 27 info@parsrot.com



SEAT

TOLEDO III (5P2) 2006-2009

AU-20488
Control Arm Bushing

Right

1K0199232H

SK-16459N
Suspension Control Arm

Front Left Lower

1K0407151H

SK-16458N
Suspension Control Arm

Front Right Lower

1K0407152BC

SK-16459
Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

1K0407151BC

SK-16458
Suspension Control Arm and Ball Joint

Assembly

Front Right Lower

1K0407152BC

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 28 info@parsrot.com




